First Pass

31=¢’{ 3 (52)(weight)} = (0.6225)(1-
0.6225)(0.2669)(0.5)(2)=0.0627
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82=¢’{ 3 (83)(weight)} = (0.6508)(1-
0.6508)(2.3492)(0.5)=0.2669

0.6508

0.6508

0.6225

0.6508

03=¢’(error)=(1)(0.349
2)=2.3492

Error=3-0.6508=2.3492



Weight Update 1

New Weight=0Ild Weight + {(learning rate)(sensitivity)(prior output)}

0.5+(0.5)(0.2669)(0.6225) 0.5+(0.5)(2.3492)(0.6508)
0.5+(0.5)(0.0627)(1)
0.5831
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Second Pass

31=’{ ¥ (52)(weight)} = (0.6298)(1- 52=0’{ Y(53)(weight)} = (0.6757)(1-
0.6298)(0.5831)(0.3578)(2)=0.0973 0.6757)(1.2913)(1.2644)=0.3578
0.6298 0.7344
0.6757

0.5314 1.2644 1.7087
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0.5314 1.2644 | 1.7087
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03=¢’(error)=(1)(1.291
3)=1.2913

Error=3-1.7087=1.2913



Weight Update 2

New Weight=0Ild Weight + {(learning rate)(sensitivity)(prior output)}

0.5831+(0.5)(0.3578)(0.6298)  1.2644+(0.5)(1.2913)(0.6757)
0.5314+(0.5)(0.0973)(1)

0.6958
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0.5801 1.7007
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Third Pass

0.5801

0.6411

0.5801

0.8922

0.6958

0.7093
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0.6958

0.8922
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Weight Update Summary

Weights Output Expected {Error
w1 w2 w3
Initial conditions 0.5 0.5 0.5 0.6508 3 2.3492
Pass 1 Update 0.5314 0.5831 1.2644 1.7087 3 1.2913
Pass 2 Update 0.5801 0.6958 1.7007 2.4126 3 0.5874

W1: Weights from the input to the input layer
W2: Weights from the input layer to the hidden layer
Wa3: Weights from the hidden layer to the output layer




